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Answer ecither in English or: in"Assariiese.

1. Choose the correct answer for thé .following
questions : _ - 1x5=5

WWW'@EM#&M*

‘(a) What was the basxs of the second generatnon
computers ?

e o m R R
g iR ¢
' (i) ‘Vacuum tube -
s BT
[Tum.over -



(ii) Transistor -
chafeey
(iii) Integrated circuit
(iv) VLSIC |
S, 9=, ag, =g, B
(b) What is the function used to add the range
“from cell Al to A10 in MS Excel ?

MS Excel® (=51 A13 2131 A10 t1 ¢ @51 G
IR B FIon I T oW 2

(i) = ADD (Al, A10)

(i) = ADD (Al : A10)
(iti) = SUM (Al , A10)
(iv) = SUM (Al : A10)

. (c) The operating system that manages more than
one CPU is called —.

- oretS @R CPUS ABIEH 341 SIAIIGR Brsss
— Q= =)

(i) Multiprocessing operating system

Gt SeEDe forew
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. (i) Multitasking operating system _
(ul) Multluser operating system _
| ﬂﬁ?i@ﬁﬁ weiicafte e -
(iv) Multithreading operating system'
ot e oo

. (d) The program that is used to view a webpage
is known as ——. |

mwaﬁmwwm;-
Qi = -

- (i) Search web

56 &R

(ii) Search engine
oI5 e

(iii) Web browser
R e

(iv) HTTP .
<35, B, B, B
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(¢) The computer network .which is confined
within a small geographical area is known as

Bt Wc@vﬂ%ﬁs TS WRT ST
EGTE oI — Qe 2|
(i) LAN.

ot
() MAN

-
(i) WAN

&
(iv) Internet

FORAG

2. State whether the following sentences are true or
false : 1x5=5

e fra IR vE & Sew O 34t ¢

(a) 'High Level Languages' are machine .
dependent language.

AR SH FROFE TR T SeNe orat |
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(b) ISO-OSE model has seven layers. .
ISO-OSI =f%a  ®6 @49 AF| -

(c) ROM is also referred as volatile memory.

T TN R e @R W

-

(d) Clprrt pICtlll'GS can not be mserted in a slide
of MS PowerPoint.-

MS PowerPoint-d =i2re ClipArt-a Rz
TREE IRA RIS '

A

(e) A hub is a common connection point for
dev1ces in a network..

2] 7 Gioa B SRR Sed
s /Rl

3. Answer the following questions : ~ 2x5=10
wors fral ety B faml s

(@) What is the usage of secondary memory in
a computer ?

" fPoEoR oIS CTe oI IR B ¢
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(b) What do you mean by IP Address ? -
IP «ruy et & 3= 2

(c) What is deadlock ?
s 2

(d) Mention two basic features of fourth .
~ generation computers. :

oY TR IRTORR 1 31 e Sa
FI
(e) What is a worksheet ?
- AERG & 2
Answer any four of the following questions :
5%x4=20
were fra e R I SifBR BeR fim ¢
(a) Explain the functions of RAM and ROM.
@ WF IR I [ A
(b) Differentiate between 'single user and

'multiuser’ operating systems with a suitable
example.

Beore| WaR™ &% MFOLT/ER WA
B SRR 2tew RYR 31t ’
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(c) Mention the basic features of MS PowerPoint.

‘MS. PowerPomt-a Gners Zﬁﬁm (e o

-9

(d) What do you mean.by WWW ? Discuss
briefly. _ .
www I B 3o 2 BRF AT

(e) Write the differences between compiler and
interpreter. '

TR WIF TOREORT A A

(f) What is communication channel ? Briefly
discuss: about any two communication
.channels. -
@i g B 2 /@i 1o Qe
NgsR R 5T oA F |

5. (a) Mention four basic features of digital
computers. Briefly discuss the functions of

the basic components of a computer.
o 4+6=10

Roferser FF-IEoRT BIRkG! G ey S
21 | FERITHR GBI T SRR P 5T
Ficeoat 0| '
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6. (a)

Or / Jizd

What is software ? Discuss about different
categories of software. Explain the basic
functlons of an operatmg system.

S 1+4+5=10 °

e & 2 wwheww Rt Retsiz |
SO 54 | AR BB GBI Sttt 3o
S T

What is. network topology ? Briefly discuss
about dlﬂ'erent network topologies. Name the

layers of the OSI model. 1+6+3=10

GG B o o1 e & ¢ Rfow e =rarfermz

PR wEeat €1 OSI Wiy wwepTR

®

AP S |
Or / Fil

Bneﬂy dlscuss the . role of Informatlon
‘Technology in Banking and Insurance

sectors. . 10

@@m%mmww a{ﬁwgﬁwm‘

SICABA ¥
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7 (a)

-What is Word Processmg ? Mention the steps
required to create a table in MS Word. How
do you perform the following in MS Word ?

2+2+6=10

ang AR & 9MSWordGW~ﬂ=d={‘t®mv
- 2RIte e rRE Sore 3= MS

WMWWWWW ?
(i) Insert a new row in a table.
Wammﬂw*ﬁw@w:

_,(u) Delete a column from a table.

- )

CF IR R T Bt AR A
(iii) Merge two cells in a tzllble. |
(BT 9UTS B! Cw FeteTeiiat |-
Or / wi

_Mchtion the main features. of MS Excel.
Explain the usage of the following functions

in MS Excel. 4+6=10

MS Excels U RMBFTE @ 3411 oo

"-ﬁmWMSExceMWWWr
() AVERAGE

(i) COUNTIF

| ',-_.(m)MAx
VASem) TIB  (9) [Tum over



